Antitrust Policy and Regulation 



In 1993 Mattel proposed acquiring Fisher-Price for $1.2 billion.  In the toy industry Mattel is a major player with 11 percent of the market.  Fisher-Price has 4 percent.  The other two large firms are Tyco, with a 5 percent share, and Hasbro, with a 15 percent share.  The other two firms are Tyco, with a 5 percent share, and Hasbro, with a 15 percent share.  In the infant/preschool toy market,  Mattel has an 8 percent share and Fisher-Price has a 27 percent share, the largest.  The other two large firms are Hasbro, with a 25 percent shaare, and Rubbermaid, with a 12 percent share. 
a)  What are the approximate Herfindahl and four-firm concentration ratios for these firms in each industry? 
b)  If you were Mattel's economist, which industry definition would you suggest using in court if you were challenged by the government? 
c)  Give an argument why the merger might decrease competition. 
d)  Give an argument why the merger might increase competition.
Solutions:

a) The HHI is calculated by summing the squares of the individual market shares of all the participants.

HHI for toy industry = 112 + 42 + 52 + 152 

                                  = 387.
HHI for infant toy market = 82 + 272 + 252 +122 
                                          = 1514.
 Four-Firm Concentration ratio is the sum of the market shares of the top four firms in the defined industry.

Four-firm concentration for toy industry = 11 + 4 + 5 + 15 
                                                               = 35%.
      Four-firm concentration for infant toy market = 8+27+25+12
                                                                                 = 72%.
b)    The Department of Justice regards markets with HHIs below 1,000 as unconcentrated. Mergers resulting in unconcentrated markets are not likely to have adverse competitive effects and ordinarily require no further analysis or a court challenge. So, Mattel can merge with Fisher-Price in the toy industry.
   In the infant toy industry, as the HHI is more than 1200, it was considered as moderately concentrated industry. But, if the merger produces an increase in the HHI of less than 100 points in a moderately concentrated market, it would be unlikely to have adverse competitive consequences and ordinarily require no further analysis.
c) A merger can lessen competition in two different ways. The first is where it is likely to enable the merged entity to unilaterally raise price in any part of the relevant market. The second is where it is likely to bring about a price increase as a result of increased scope for interdependent behavior in the market. So, mergers lessen competition that in turn can lead to higher prices, reduced availability of goods or services, lower quality of products, and less innovation. Indeed, some mergers create a concentrated market, while others enable a single firm to raise prices.

d). when companies combine via a merger, an acquisition or the creation of a joint venture, generally has a positive impact on markets: firms usually become more efficient, competition intensifies and the final consumer will benefit from higher-quality goods at fairer prices. Thus, the merger would likely result in cost savings and actually benefit competition and consumers by allowing firms to operate more efficiently.
